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IV(a)

V (a)

(b)

A foundation, 2.0 m square is installed 1.2m below the surface of a uniforx;:l
sandy gravel having a density of 19.2 kN/m? above the waler table and
submerged density of 10kN/m3. The strength parameters with respect to effective
stress are ¢' =0 and ¢' =30". Find the gross ultimate bearing capacity for the
following conditions. _

(i) Water table is well below the base of the footing.

(1)) Water table rises to the ground level.
(For ¢ =30°, Terzaghi given N(L =22 and N, = 20)

(OR)
A strip footing of 1.0 m width is founded at a depth of 2.0m below ground
surface. Determine the net ultimate bearing capacity using (i) Terzaghi’s theory
(if) skempton’s method and (iii) IS code method.

The soilis clay (¢ =0 and C = 16 kN/m?2).

Two load tests were performed at a site - one with a 50 cm square plate and the
other with a 75 cm square plate. For a settlement of 15mm, the loads were
recorded as 50 kN and 90 kN, respectively in the two tests. Determine the
allowable bearing pressure of the sand and the load which a square footing, 1.5
m size, can carry with the settlernent not exceeding 25 mm.
(OR)

Design a combined footing for two columns (both 300 mm x 300 mm) carrying
loads of 1200 kN and 900 kN, if the centre to centre spacing between columns is
4m. Take allowable soil pressure as 200 kPa. The distance to the edges of footing

from the cuter face of both the columns should be kept as 0.3 m.

Vl(a) Explain the procedure of design of raft foundation by conventional method.

(b)

(OR)
A square pile group of nine, 12m long piles of 300 mm diameter 1s placed in a

uniform clay deposit with average undrained shes- strength of 68 kPa.

Considering the system as a combined end beiring 2und riction pile group, find
out the centre to centre spacing for a group efficizi:cy of unity (1.0). Adhesion

factor may be assumed as 0.9,

(4x10 = 40)
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